SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
COMPUTER EDUCATION PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy §oF “L LW

1. Use separate answer sheet for writing answers and give your personal information on it as well.
S U f4;! Z Ul gt Je qulzc;ué‘ L LA s
2. Read carefully and attempt all questions.
gL S sl Uy e ra
3. A question can consist of one or more parts.
e (F o L s b e LI L i L
4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.
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I Total Marks: 52 I Part-B (Constructed Response Question) I Total Time: 1 Hour 45 Minutes I

Question No: 1
1/:‘; Jlr

a ) Write any two differences between Client and Server. (2 Marks)
(/2)-%&}»;&[@/5/1}! A4

b ) Write a short note on the following devices. (4 Marks)
1. Dial-up Modem
2. Network Interface Card

(Fa) ol wd 2, s o (b

Gy IS5 .1
Zg‘j:’j-'! s <.

¢ ) Describe the following Transmission Media: (4 Marks)
1. Coaxial cable
2. Fiber optic cable

F4) iyt eolos S S0 S50 (€

J U
H T 262



Question No: 2
2/:} Jir
a ) Define Worms and write its two examples. (3 Marks)
(/7’;3)&[)&@‘» Ju’lui J"/;_?/J'U(f/)} (a
b ) Briefly explain that how Flash Drives get infected from virus? (3 Marks)
(F3) gl woles Ao Qo St o iU b O gf1s 52F (b

¢ ) Write the name of the ways through which virus, worms, and adware spread? (4 Marks)

(/4)?@?%/’1.)2!/;'//»<J//UZ.{-/J'LCﬁﬂ(bLU’@/’U' (c

Question No: 3
34 Ui
a ) Write down the steps for saving a spreadsheet file for the first time. (3 Marks)
Ay b L LS5 5SS oo la
b ) Briefly explain any two components of MS-Excel window. (4 Marks)
(/ 4)4}1/’/;‘«9&;/’? Ji'Z! »e é}’/ﬁ +%s MS-Excel (P

c ) Define Charts. Write the steps to insert a chart in MS-Excel by using the chart wizard. (5 Marks)

(ﬁ}S)-uiJ J"l/ Z L/¢/! < J~ MS-Excel & Z./Jl.»"’l K Chart Wizard_g[/(bé{/? Juﬁjlg (c

Question No: 4
4/:‘; J!r

a ) Define Terminal Symbol of Flowchart. (2 Marks)
RNV N SV Y SV C
b ) Draw Decision Symbol and give reason why Decision Symbol is used in the flowchart. (3 Marks)
7 0Bk it uderte S Gt dad Ut el £ 201 et S oL b (B

¢ ) Draw a flowchart to find the area of a rectangular region with a given length & width. (5 Marks)

(/5)-().{[3:&/[5}1;4"&12_/&&“&4! gd?’//)éf{/ugjt’éé’j}z/}’éu (c

Question No: 5
5 / J!y
a ) Explain LOAD command used in GW-BASIC. Also write syntax of LOAD command. (3 Marks)
(A3)u/ 2 f & A ¢ ECLOAD S olos § EULOAD s & J1 U2 GW-BASIC (@
b ) Explain PRINT Statement used in GW-BASIC and also write its syntax. (3 Marks)
A3/ & AU S eolos § e PRINT Ui &t Jei1 U2 GW-BASIC (b

¢ ) Write a program in GW-BASIC which will take two numbers as input from user, add them and display result. (4 Marks)

Fd)ee S 6 e TR s e TGS el cqn st e g S50 S 2y S 1 f 1S5 £ Ut GW-BASIC (€



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
COMPUTER EDUCATION PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_uﬁyw:ﬁsfﬂ (wa/,lu%JL-!

2) Read carefully and attempt all questions.

_Q/J’amy(l}m uﬁwz:_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: Which error occurs when the instructions written in a program do not follow the rules of the programming language?

_ugéfuff4uﬂflLugu@/,/?gy/,fﬁ¢(1ﬁ4¢%3ﬁ&;utJ’J'u“u/:JL“f

@) SyntaxError , f e (b) Logical Error /| J%U
(c) Run-Time Error /| r/’[j ) (d) Execution Error /| u’}:/&/!

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L liznl e Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
st ALy et L i SE W 2 BT - N

Question No.1: A transmission media that uses glass or plastic threads to transmit data is: ‘
:‘go,:‘gvfdwm/?éb@ggmﬁg.ziz;/fﬁtzszg}yuﬁ»“’;j.,g:1/Jw

(a) UTP d 3 y (b) STP d é Ul

(c) Coaxial cable ‘j:r J;ﬁ S (d) Fiber optic cable J:f LT 46

Question No.2: How many fundamental components are of computer network?

St A7 Sl 141 s qi/b;;{.{ 2 A Jlr‘
(a) 2 (b) 4 (c)6 (d)8
Question No.3: "User authentication" is the key service of:

S s S § U3 " 3 A D

(a) Client bb,jj_{ (b) Server /,/ (c) Switch éy (d) Modem (.j,/
Question No.4: To share a printer in a network, it must be connected with:

_6¢d/:/‘tn._ﬂ«3'jtx£ KJI:“iLL//:a‘/}4uZJ;¢jJ(:4/JIV

(a) Server sy (b) Client sLK (c) Sender o (d) Receiver ey



Question No.5: The device used for internet communication is:

e dae Jii ujugjé Z ﬁé}g/u.{/" 5 4 Jir

(a) Network Interface Card jjgw."/b.; __,C, <L (b) Modem F:jy
(c) Switch é}/ (d) Bluetooth j;}z
Question No.6: A wireless technology used to exchange data over very long distances is called:

L‘}MJ}JL-C JJ/l;s.fldl)L/Jlﬁ“ﬁiLL)bL 4&[50;&)@;&:6/7}‘_)!/
(a) Cellular /'k (b) Bluetooth ﬂ/,)}: (c) GPS wﬂ d J (d) Satellite b»,"ju,’i:‘
Question No.7: Computer systems are in danger due to:

-‘au/'jc; :’//‘;“//}’{‘;{27/}‘,)')/
(a) Antivirus Jj" é].'.; (b) Security threats sz/’ ‘3/,?

(c) Licensed software /:’, 2 ;JU (d) Scanning computer bﬁ:c /b},fﬁ{
Question No.8: "McAfee" and "Nod32" are examples of:

- u’f./l’}' d/ Nod32 sl McAfee :8 / Jis
(a) Worms y Il (b) Antivirus u’j;, L?.’., (c) Adware ﬁ/’ /’y (d) Spyware /:,7) é&,
Question No.9: A software that runs in the background of computer to detect, prevent and remove malicious program is called:

c.l:’Mucc_Wu*,m/szj_LL/(]/)IZ_LﬁcL,U”)//l/'/)/ L}f/ u"/rji/)udl/l»l 9/Jlr‘
(a) Disk Cleaner /{,K_'Cj (b) Disk Defragmenter // d, _'C,

(c) Antivirus u’/’y,&:&; (d) Control Panel Jf} J,/J’.f

Question No.10: Main source of spreading virus among computers over internet is:
e WK U U A 2 e 2110 A Ui

(a) surfing websites JL,JC-“; KJ’/L, —! (b) internet video call JK?J/’;‘, &5:/1’.]
(c) internet voice call J{ujj, _1;:‘;/";[ (d) play online games L,Eé//:,fufu uT
Question No.11: MS Excel is a software that is used to prepare:

_‘LL"}’:JWIJ:J_//? X‘Lj)&VLJ"IVQMSExcel :ll/dir
(a) Design document _b/‘j/;j ./r/“j (b) Text document y[’j ,_b,,g
(c) Multimedia presentation U:":’:/../.. E/‘&, (_?L (d) Spreadsheet &;‘:” /‘;‘/
Question No.12: Spreadsheet is used for:

- A JLWI&/ S kg 12 A Ul

(a) Painting o/”;? (b) Scanning f’“ (c) Calculation u".f'}ff"/ (d) Printing _fi:/“
Question No.13: A software that stores and maintains data in tabular form, is called:
3 b . -
‘e l:‘M:‘alez/!//./)! /:i“/l’af U (/G J:‘f:?/:/: ."JVJ 213/7‘/J!/
. . P (b) Multimedia Presentation o b4
(a) Word Processing Software /:’, 2l oa 2z 3 Software /-, e u’:’// L,w U”L
(c) Spreadsheet Software /:’, 2l o /’&ﬁ (d) Graphics Software /:’, 2 f’/
Question No.14 : In MS Excel worksheet, rows are arranged:

e gﬁ -7 Ju;/@ o er s MS Excel :14/:‘; Jis

(a) Vertically ‘j)/ (b) Horizontally Jﬂ (c) Diagonally Lﬁ.’] (d) Centrally &V”
Question No.15: SUM( ), PRODUCT( ), AVERAGE( ) are the examples of:

eor U2 U7 SUMO), PRODUCT(), AVERAGE() :15 # Jis

.

(a) Formula s 6 (b) Equation .i,{; (c) Function it (d) Expression u’%fg



Question No.16:

(a) ROM

Question No.17:

Question No.18:

(a) center

Question No.19:

SUM(C5:C7)
SUM(C5.CT)
SUM(C5,CT7)
SUM (C5;C7)

a
b
c
d

)
)
)
)

(
(
(
(

Question No.20:

(a) "#" sign

Question No.21:

Aal
@

Question No.22:

(a) Column

Question No.23:

(a) important

Question No.24 :

(a) Input

Question No.25:

(
(b
(
(

Identify the area of memory in which copied data is stored temporarily.

et 5 b SN U T S e Sl o1 £ Gt 116 4 Ui
T334 S by K
Identify Office Button from given picture of MS Excel.

L6 S T T8 SMS Excel 117 4 Jir
Cq)id - d

’/,/ (b) Hardisk (c)CD (d) Clipboard

T et

The default alignment of text value in MS Excel is:
e B 23U s § oks oo f Uf MS Excel :18 4 Jir
PRI A S

Choose the correct function of MS Excel that add the values as shown in the given picture.

G F A E MSExcel & LS E ks 19 TS 119 4 Ui

/5" (b) justified (d) right
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Functions in MS Excel are always starts with:

g lnls AL ;:f/-ﬁut MS Excel 220 & Ji»

"#" el (b)"="sign (c) "+" sign (d) "%" sign

Choose the font color button of MS Excel 2007.

"=" :/‘w "+" yw "ZH yw

LSt F 2 EMS Excel 2007 21 & Uiy

. A
o A ()| 4 iy - <d)
A user wants to show data in percentage, which type of chart he will use?

iy -
S e £ 7 0 gl LES el s 00 A Uiy
H{ (b) Line Cfu (c) Pie 3

A problem statement should be:

(d) Bar A

-

2L i

—gl b S o (qu?,{u 23 7 Uiy
r’l; (b) clear 5;, (c) lengthy uj

In flowchart, diamond symbol is used to represent:
-‘LdﬂJWl%LL//"W/ ;«/U&u{ﬁlﬁ’uﬁ&ﬂg}ﬁz24/wr
Lo Sl Le? e 24

Choose the correct sequence of a flowchart representation.

S es“/"(‘; Sy Jwtgﬁ 25 & Jir

(d) complex

oﬁv

0
e

(b) Decision (c) Processing (d) Output

1,”
b”{:u}'

a) Start-->Process-->Input-->Output-->End

) Start-->Input-->Process-->Output-->End
¢) Start-->Output-->Process-->Input-->End
d) Start-->Input-->Output-->Process-->End



Question No.26: Given diagram is an example of:
fe Jo L Jfrljilj F 8 26 & Jir
(a) Block diagram ﬂ/ij Jj}, mE

(b) Flowchart d’ulg}b
() Graph oS 1 7 = L
(d) Chart d’a/lg ) = I
Question No.27: JAVA, COBOL, FORTRAN and BASIC are called:
;o A/ 21 BASIC sl JAVA, COBOL, FORTRAN 227 4 Jis
(a) Program errors Js/) f’//% (b) Program variables '/L‘(J d/“, ‘/1/’4,/“
(c) Program languages ;,@ ﬂ/’i/“ (d) Program operators /”:/“T rui/“
Question No.28: A Program contains instructions that a computer:
e t‘//}":ﬁ.{d//fu) uj&n s ey ’/t/’i/.: ._.{l :28/} Jif
(a) modifies rf] (b) follows d,/“g. (c) changes J:/‘;J (d) deletes EJ
Question No.29: Which one is used to perform mathematical and logical operations on data? .
‘e bk gdlﬁ“! KJ/:, Je 43_ Z L/’//?o/fﬁﬂ 7l ._ﬁ:‘@//i 4(23’ :29/} Jis
(a) Keywords ) d/ (b) Variables }l."J U//,,J (c) Constants uj"’p 4 (d) Operators j/”:/“f
Question No.30: The correct output of BASIC statement PRINT "Book"; "Copy"; "Pencil" is:
ey 25T sy S PRINT "Book"; "Copy"; "Pencil" =4 BASIC 230/7‘; Jir
(a) Book Copy Pencil (b) BookCopyPencil
(c) bookcopypencil (d) book copy pencil
Question No.31: Identify the wrong arithmetic expression written in GW-BASIC. .
g GaE Jﬁ/ﬂq ..é;//n Ry u‘z‘guﬁ GW-BASIC :31 & Jir
(a) A=B+5 (b) A=B+C (c) A=5+6 (d) 5=A+B
Question No.32: Identify the output of the following program written in GW-BASIC.

gl et e, T o fi L Bt GW-BASICL s £ 32 A4 Ui

(@) 10 10 CLS

(b) 20 20 X=10

(c) 100 30 PRINT X2
(






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
ENGLISH PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1. Read carefully and attempt all questions.

2. A question can consist of one or more parts.

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |
Question No.1: Write a paragraph of ten sentences on “Benefits of Working Together”. Use correct grammar, punctuation and spelling.
Marks (10)

Achieve . Co-

more WOI‘klng operation
Together
Motivation Guidance

Question No.2: Ahmad’s brother fell from the roof and he called 1122 emergency for help. Write a dialogue between Ahmad and Call

operator in ten sentences. Use correct grammar, punctuation and spelling. Marks (10)

Question No.3: Paraphrase the following stanza in your own words. Use correct grammar,
and spelling. Marks (10)

But when the wind

Makes noise in the mango trees

And the frangipani

Holds out its yellow

Richness, | say this

‘Not to remind You

Of me, but myself

Of this and all of You.



Question No.4: Read the paragraph given below. Create a title for the paragraph related to the main idea and accurately summarize 1/3rd
of the given text. Use correct grammar, punctuation and spelling. Marks (10)

Instructions: Your summary must describe all key ideas from the paragraph. Do NOT include opinions or personal information in the summary.
Paragraph: : !

Libraries are one of the best places for learning. These play important role in our educational
development. The libraries provide us with a gateway to knowledge and creativity. Recently,
libraries are being digitalized. A variety of books on all subjects are available in the library. These

books are accessible through an online account. Students can read the books at their homes at any
time. Many libraries have been established in Pakistan. Punjab Public Library is the largest library in } !
the country. It is situated near Lahore Museum. Books of all the fields like literature, medicine,
astronomy, etc. are available. It has a computer lab. There are also different sections. The sections
are managed according to subject and users. It has also a children's section. Children are also
benefiting from the library. The section is decorated with different colors, pictures, and shapes.
These help the children in learning new things.

Question No.5: Read the following paragraph carefully and answer the questions. Marks (12)
Forests are home to different types of flora and fauna. They are vital to our survival. They maintain
temperature. They protect our environment from excessive heat. Dark forests help sustain the life of
animals and birds. They are also important for human life. We get raw materials such as wood,
fruits, waxes, honey, vegetables and leaves. They are a great source for keeping wildlife. Trees
prevent soil deterioration by removing the upper layers. They keep the air pure. They provide us
with fresh oxygen and a clean environment. Mankind has used forest resources for thousands of
years. Overuse, imbalance, and human greed have upset the Earth's natural cycle. Human activities
such as deforestation and excessive use of trees for industrial purposes have led to their decline. We

need to strengthen our campaign about more trees. To protect our environment, we must reduce the use of plastics. We should grow more
trees to save the forest. In this way, we can pass on beautiful flora and fauna to the next generation.

(a) Give main idea of the paragraph. Marks (02)

(b) What type of material do the human beings get from forests? Marks (02)

(c) How is the Earth’s natural cycle affected? Marks (02)

(d) Give two reasons that cause in decline of trees? Marks (02)

(e) How can we give fresh and clean environment to the next generation? Write one more suggestion other than given in the passage. Marks
(02)

(f) Give suitable title to the passage. Marks (02)



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
ENGLISH PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :

1) Use mask & keep at least 3 ft. distance from each other.
2) Read carefully and attempt all questions.
3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Heis____ to school.
a) goes b) went
(©) going d) go

4) If more than one options are encircled in a question, no mark will be given.

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

Question No.1: If someone asks for help, what will you say?

(a) I will punish you. (b) I cannot help anyone.
(c) I am ready to help. (d) ' don't know you.
Question No.2: Identify the word having a long vowel sound.

(a) Stead (b) Head

(c) Bread (d) Breed

Question No.3: Choose the option that has different meaning in singular and plural form.
(a) Market, Markets (b) Iron, Irons

(c) Road, Roads (d) Drama, Dramas
Question No.4: Identify the sentence with correct use of relative pronoun.

(a) That is the girl which has got a new car.

(b) This is the table who | bought from bazar.
(c) That is the boy who stood first in the class.
(d)

d) This is the man which gave us the money.
Question No.5: Choose the masculine of "Mare".

(a) Monkey (b) Horse

(c) Mule (d) Goose
Question No.6: Identify the adjective of the underlined word.

"Quaid-e-Azam decided to get a separate homeland for the Muslims."

(a) Decision (b) Decisive

(c) Deciding (d) Decide
Question No.7: Identify sentence which has personification.

(a) The sky was lightened by the thunderbolt.
(b) The lightening danced across the sky.

(c) The twinkling stars in night was like blooming flowers.
(d) The sudden lightening in sky was horrifying.



Question No.8:

Your friend has helped you in your homework. How will you thank her?

(a) I could have done it without you.

(
(c)
(d)
Question No.9:
(a) Buffalo

(c) Bufalo

Question No.10:

(a
(b
(c
(d

)
)
)
)

Question No.11:

b) You are my friend.
| am grateful to you.
You offered little help.

Why is my bag?
Where is my bag?
When is my bag?
What is my bag?

Identify the word with correct spelling.

(b) Bufallo
(d) Buffaloe

Choose the correct question for the given situation.

"You are looking for your bag."

Recognize the sentence with the use of linking verb.

(a) The boys are hardworking.

b) She cleans her home.

)
d)

Question No.12:

(
(c) He writes a letter.
(d) You read a book.

Identify the sentence with Past Perfect Tense.

(a) Has you ever swum in this lake?

(
(c)
(d)

Question No.13:

b) Had you ever swum in this lake?
Have you ever swum in this lake?

Have you ever been swum in this lake?

You want to read a newspaper. How you will ask your friend to pass the newspaper in a polite way?

(a) Give me the newspaper immediately.

(
(c)
(d)

Question No.14:

(a) Expecting some

(c) Some extremely sunny days

Question No.15:

(a) Early

(c) Earliest
Question No.16:
(a) Extremely

(c) Extrimely

Question No.17:

(a) She

(c) Her

Question No.18:
(a) whose

(c) whom

Question No.19:

b) Have you read newspaper?
| want to read newspaper.

Can you, please, pass me the newspaper?

What is the adjective phrase in the following sentence?
"We are expecting some extremely sunny days."

(b) Sunny days
(d) Some extremely sunny
Identify comparative degree of the underlined adverb.
"l awoke early this morning."
(b) Earlier
(d) More Earlier

Identify the word with correct spelling.

(b) Axtremely

(d) Extremly
Choose Emphatic Pronoun in the given sentence.
"She herself prepared food for her dear son when he got home."

(b) He

(d) Herself
"Thisisthetrain_____ will leave at 5.00 PM."

(b) who

(d) which

Identify the sentence in which intransitive verb is used.

(a) We are working hard for the prosperity of Pakistan.

b) They are arranging an exhibition in the school here.

(
(c) They are eating bananas and oranges in their room.
(d)

d) We are writing long essays on the subject of computer.

Question No.20:
(a) cheerfully

(c) the more cheerfully

"The students reached theclass ___ than ever before."

(b) more cheerfully

(d) the most cheerfully



Question No.21: Identify the sentence with correct use of Semicolon.
(a) Trees were planted by Mr. Umer, the Principal; and Mr. Asif, the class teacher.
(b) Trees were planted by Mr. Umer; the Principal, and Mr. Asif; the class teacher.
(c) Trees were planted by Mr, Umer, the Principal; and Mr. Asif, the class teacher.
(d) Trees were planted by Mr. Umer; the Principal; and Mr. Asif; the class teacher.
Question No.22: Identify the underlined words.

"Pakistani flag was waving in the air on 14th August 1947."

(a) Phrase (b) Subordinate clause
(c) Sentence (d) Main clause
Question No.23: Identify the simple sentence among the following sentences.

(a) Jawaria waited for the train but the train was late.
(b) I waited for Maryam and Salman at the bus station.
(c) Get me some water or the fire will spread.
(d) Nature does not hurry yet everything is accomplished.
Question No.24: Choose the correct indirect narration of the sentence.

He said to his friend, “Why are you wasting your time playing games?"
a
b
C

d

(a) He ordered his friend why he was wasting his time in playing games.
(b) He requested his friend why he is wasting his time in playing games.
(c) He told his friend why he had been wasting his time in playing games.
(d) He asked his friend why he was wasting his time in playing games.
Question No.25: Change the voice of the sentence.

"The students are decorating their classrooms."
a
b
C

d

(a) Their classrooms were being decorated by the students.
(b) Their classrooms have been decorated by the students.
(c) Their classrooms are being decorated by the students.

(d) Their classrooms are decorating by the students.

Question No.26 : Identify the suffix in the word "Punishment".

(a) punish (b) ment

(c) pun (d) ent

Question No.27: Identify the sentence in which adverbial phrase is used.
(a) Ali bought the flowers for his mother.

(b) The Pakistani flag has two colours.

(c) Mount Everest is located in Western Nepal.
(d)

Islamabad is a beautiful city of Pakistan.



Paragraph Instruction
Read the following poem carefully and answer the questions given below.
When you’re up against a trouble,
Meet it squarely, face to face;
Lift your chin and set your shoulders,
Plant your feet and take a brace.
When it’s vain to try to dodge it,
Do the best that you can do;
You may fail, but you may conquer,
See it through!

Question No. 28 : Which literary technique is used in the first two lines of the poem?

(a) Alliteration (b) Personification
(c) Simile (d) Metaphor

Question No.29 : Which line represents the main theme of the poem?
(a) You can fail but you can also win.
b) Do not let your nerve get to you.

Even ifitis hard, do not give up.

(
(c
(d

)
) Keep yourself in action all the time.

Question No.30 : In what meaning “Vain” is used in Line 5 of the stanza?
(a) A self-loving or conceited person

(b) A useless or pointless thing

(c) Vessels that carry blood in body
(d) A thing that holds a window in place

Question No.31 : What is the suitable title for the stanza?

(a) Never give up (b) Fail and conquer

(c) Runaway from troubles (d) Never help people

Question No.32 : Choose the line in which transitional device is used.
(a) When you’re up against a trouble

b) When it’s vain to try to dodge it

Meet it squarely, face to face

(
(c)
(d)

Plant your feet and take a brace



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
ISLAMIAT PART - B (Subjective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students:

1. Use separate answer sheet for writing answers and give your personal information on it as well-

g el Un b & (ff/%;! é:u’! ] Q/JLJ"I Kégdﬂﬁaoﬁf“i Z &J_agu?

2. Read carefully and attempt all questions-
_J”/(Ja = Uly rVn 1 u.‘.‘”?“c“_/f
3. Aquestion can consist of one or more parts.
_%Cﬂﬂd}&//.:U!‘?O)E/‘LVQEng‘/ug
4, Use black/blue ink for writing answers. Use of lead pencil is not allowed-

e U bl JJLMLJ“;'&:-J“/JW! gl E/dvd &0z

I Total Marks: 30 I Part-B (Constructed Response Questions) I Total Time: 45 Minutes I

Question No: 1
1/."; Jlr

a ) Explain the literal and terminological meaning of Soam (Rozah). (2 Marks)
D e Qe G121 st §¥ & (230) e (a
b ) Write two Hadiths or translations about the virtues of Soum (Rozah). (4 Marks)
D 2o bl ek L J1b L i (b
¢ ) Write four social benefits of Soum (Rozah). (4 Marks)
8.y e a1 3 2o e L (€
Question No: 2

Z/J!r

a ) Write the concept of fulfilling promise.( 2 Marks)
(F2) g e p 6 apity (@
b ) Describe the importance of fulfillment of promises by writing two Ayah. (4 Marks)
(# 4)-Q/fu el §fd e 25 w\Ts b

¢ ) What Lesson do we learn from the Holy life of Nabi Kareem pluwg nyluolg ~JI (deg ~sle Al wLo? regarding fulfillment of
promises? (4 Marks)

At e wr Lwa Sard s ob ds e dn 7§ U7 (@

Question No: 3

3;}J!y



a ) Write the literal and terminological meaning of lawful earning. (2 Marks)
(A e s § e /(@
b ) Write any four benefits of lawful earning in our society. (4)
@ 3 fo e 3 Ut flor ol Yo LS (D
¢ ) What are the bad effects of unlawful earning on society?write any four. (4 marks)

(/4)-“&644/“1/Lgc_éf?ugéng/ym[/’;}b»:,th'/’tgb (c



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
ISLAMIAT PART - A (Objective Type)

[Part A: 30 Marks Part B: 30 Marks Part C: 40 Marks Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

"L‘l{fu;}u’:dc"‘fd}é'}/wd/@dbé%'ﬁgZ:J!y&@"'m/?/ﬁ_r
e Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?

Four A.f (b) Three uf' (2)
Six %7 (d) Five é& 0)

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 30 I Part-A (Multiple Choice Questions) I Total Time: 45 Minutes I

Instructions: Twenty (20) Multiple Choice Questions (MCQs) are given in this part. Each question carries 1.5 marks.

cu A1 L o Lo e B8 W E200 2 U el

Question No.1: Reward and punishment is part of what faith?
?‘L,ﬁ? KL/:-"”’L/J}‘.] K!f}l']. :lﬁ'}d’)’“
(a) Of Tawheed K x>y (b) Of Risalah 'y (c) Of Hereafter K 77T (d) Of destiny {/“/Lﬁ
Question No.2: There have been narrated bliss in hadith for one who observe Saom:
Pt} J}’Z O)% u.@i “A Z s ais e u@ Eop A 12/ Jl/
(a) two Iy (b) three uf (c) four /tf (d) five ék
Question No.3: The rituals of Hajj include:

:‘LJlﬁuﬁéJl}‘ :3/Jir
(a) reciting Quran L‘/_u,,j_}r (b) saying Talbiya Lok &

(c) pebbling the devil (L /ﬁ/fuu;;: (d) offering Salah Loy



Question No.4: The meaning of ' o)l Hg0" is:

;‘L?ﬂ@‘gﬁ;gy 4 A v

(a) the sound of buffalo 1T Ju’fj (b) the sound of donkey T J&,«/
(c) the sound of goat 1T d/d/ (d) the sound of cat 1T JJ‘
Question No.5: We get the lesson of imprisonment and boycott of Rasool Ullah in aluwg aylsly JT (e g aile AUl wo guidl] oils

-valley of Abu Talib

2%&&@”@&/';#@L(V),,VBJTJ‘)Q&/JIW&471/@5%)%@1.,4}5’ ZS/J'/

(a) patience KJ;,/ (b) fullfilment of promise K oF 2 o

* ¢ (S
(c) justice and kindness Ku[,ﬂ ) ‘Jﬁ (d) good social manners K&._.,/“[,A u”
Question No.6: In the hadith "d age V ;o) > V", it is the sign of:

:‘LKEJJ’}/ML@’JHU/JUUJ&‘) y" :6/}‘_)!)/

p(.“/l.'éi‘*l d/f:/”( JUJ’JC[) Jﬁbu)
ke

(a) preservness (b) patience c) religion (d) good moral
=l - =l =l
Question No.7: Building up good relationships with the people of the society is called:
e U051 2T B AL L S Lo Flo 7 A i
(a) stabilitiy I rs (b) good manners _..,/“' (2o u) (c) forgiveness Jf/,”ﬁ«‘ (d) justice il
Question No.8: According to the Holy Quran, the closest to justice is:
= V;,/“ ol e _—«’L J,w Jflb‘ Z A5 UT/“ :8/ J!r’
(a) patience / (b) perseverance v (c) piety LS;J (d) kindness UL”'
Question No.9: The things that would be in condition like carded wool in the Day of Judgment, are:
:L/Unuﬁ&bu{w!&ﬁuﬁ;uﬁcjl' :9/:)J!r
4
(a) mountains jlﬁz‘ (b) humans uL,H (c) forests Jé) (d) deserts |f"
Question No.10: According to the Hadith of Rasoolullahalwg ~lzuolg ~J1 (leg arle AUl Lo, the reward of looking at parents with

love is equal to:
Zga?lj}fﬂbi a‘.ﬁ;co@ d/agf/c):ﬂb&w/ L crw d/fvﬁ ,‘,VDJT&‘)&)’W J”,J’U! U :IO/JW
(a) Salah K1 (b) Saom KoJs, (c) Hajj Ké (d) Jihad {,Lz?

Question No.11: The literal meaning of zikr is:

g & E LS AU

*

(a) understanding 7Y ;‘J (b) piety C;,’Iﬂ" (c) reminder dL[”L (d) honesty djjlc[,:/‘y
Question No.12: Ummahat ul Momeneengic Jl=i AUl (o) used to take care of the most orphan girls:

Wk SO ol e e S 0 A et 12 A i

(a) Hazrat Khadijalgic (Jl=i AUl (no) de’] Il U}’J EIrACyy o (b) Hazrat Sodaalgic Wlei l oy (5 dgj Ul Ué/ Dy = 2
(c) Hazrat Ayesha lgic (Jl2i Al (n) de’] Ul f/ ,.’:’jtp - 2 (d) Hazrat Hafsaalgic (Jlei Ul (o) dej Ul dpJ,-«eb - 2

Question No.13: Substandard products affect the:

:%&n}"t’/aal&f‘”d/b{/f 213/7‘;J!/

(a) individual development ‘5}‘ d,]/'aﬂ (b) social development J] ‘3/" (2
(c) country's development d“] Ua (d) international development u’[} |l ui’
Question No.14 : Holding the rope of Allah Almighty strongly, means to:

‘avib‘gélﬂ?é(f}””/d/d/dbjﬂi :14/7}J|/

(a) offer Salah Loy 4 (b) be satisfied (s u’“b" (c) unite (o 5 (d) charity L/,.;M



Question No.15:

(a) rights

Question No.16:

(a) ten years

Question No.17:

(a) grain

Question No.18:

odwg uloly

(b) Hazrat Abu Bakr Siddique ~ic ~I o,
(c) Hazrat Umar ~ic Ul (o)
(d) Hazrat Ali ~ic Ul o)

Question No.19:

(a) Aroos

Question No.20:

(a) knowledge of
Hadith

Obeying the law does not deprive anyone of their:

:L“nu:fp} J’d”d/z_ w,wg Ju)u“ :15/Jur
o 0¥ & di’) = u,:"fL,T (d) wealth e =i

Hazrat EsaeMull ~ilc started preaching of religion as Nabi, at the age of:
SO E Sp e Gl b e 16 4 Ui
Sdeu St S e YU
A A A oA

Hazrat Ali Aic (Jlsi Ul (o) sold to pay the mehar of Hazrat Fatima L ic Jlsi AUl (o) :
B LS KL 30 (P e 2 i e (5 u‘z’/d‘a/’”} 17 £ Jiv
0/) (b) sword JDL“ (c) bow UU'/ lej

"Salman is my family member", the sayins is of:

(b) life (c) luxuries

(b) twenty years (c) thirty years

(d) the shield

e o/ c+;} b//:_/: b :18/ Jis
L0 JT J‘,xlu'w & o ("t; Wy & = 2
£
K 25 u’b/&:ﬂ/-(:fi = 2
§ o8 (& f e
§ e 1 E = 2
The name of fortress breaker mangonel which used in conquest of Sindh was:
:ugjfu@;ﬁdu'gndtﬁ”!uﬁmpé 119 & Uiy
J S O Sof

TheSubjectof the book "Alfoz ul kabir" of shah Wali ullah ~ile AUl dos),is:

e Ly K/;.U! o8 b,llfu/,“lz e s ol 20 A v
S H‘

o (c) knowledge of ” (d) knowledge of o
e (h Figh ~ H‘ Faith "'th

(b) Arood ,,/ (c) Shaheen (d) Ghori

(b) knowledge of
Tafseer



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
MATHEMATICS PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1
lﬁ}dlr
a)ifA={1,2,4,5,6},B=1{3,4,5, 6}andC = {6, 7, 8, 9, 10} then show that:
AN(BNC) = (ANB)NC (5marks)
SufetionC =1{6,7,8,9, 10}sB=1{3, 4,5, 6}A={1,2, 4,5, 6}.76
A#HAN(BNC) = (ANB)NC
b)If A= {10,11,14,15} and B = {11, 13, 15, 17} then verify the commutative law of union. (5 marks)
(F5) S ey § bt £ 29 wB = {11,13,15, 17} A = {10, 11,14, 15} /i b

Question No: 2
2/:‘; Jlr
a ) Arectangular field has an area 1682 square meter. Its length is twice as long as its width. Find its length and width. (5 marks)
(/ 5)..@/()‘” (}U’}?: 23 (}LJ d/u’i - e L}U’,{, :(}U ‘fl _‘a/b’f &/ 1682 -3 KJWVQ (a

b ) Evaluate and express the answer in decimal number system. (5 marks)
75 + (1231), + (1010),

F5) o B Sow St S g 2 (B
75 + (1231), + (1010),

Question No: 3
3 4 v
a ) For what value of ‘k’ the polynomial 23 + 422 — 5z + k becomes exactly divisible by  — 2? (4 marks)
Fosde Sy i3+ 4z — b+ kd, P — 26 F L L =i Sk

b ) Ayesha bought 5 books and 2 pencils for Rs 170 whereas Usman bought 2 such books and 1 pencil for Rs 70. Find the price of
one pencil and one book. (8 marks)



-Q/(PQEJJ’;”,{!M?D@Q-Q};}uﬁaﬁ.;ﬂoﬂljjiufﬁztﬂud'Lulﬁf,?q};juﬁg:,, 170@1/"?2/,;%50/52_;}5& (b
(+8)

Question No: 4

4/:}‘.)!;/

a ) By using Hero’s formula, find the area of the triangular region when the lengths of its sides are 12cm, 13cm and 15cm. (5
marks)

(#5) -ut15emas13emd2emupy S s £ o1 & VT Fo SEL,
b ) Construct a rectangle ABCD when m AB = 3.1cmand mBC = 5.1 cm. (5 marks)

(#5)-mBC = 5.1cmsm AB = 3. 1cm.¢ /LABCDUE ©

Question No: 5
5/.”; Jlr
a ) Find the value of 4sin 45 X cos30 + cos45 X 2sin45 . (5 marks)
—Q’/(:L’”:AE (a
(#5)4sin45 x cos30 + cos4b x 2sin4b

b ) Construct a histogram of the following data. (5 marks)
Class Boundaries|5-1010-15/15-20/20-25

Frequency 25 |20 |15 10

(A 5) b 25 Jeor L gy g0
s Pz 15-1010-15/15-2020-25
b 25 20 15 10




SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
MATHEMATICS PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
= " Z - 7 o .
e VWS BT 2 S S 12 E L e $E 0 2y

Example: The number of subsets of the set {0} is

‘a;l,«;d/u}’r‘f Z{0}er 1 Ji
a)l ®) 2 c)3 d) 4

4) If more than one options are encircled in a question, no mark will be given.

Kb AT S L bzl e Lt dir 5

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

ct A15E et L e GEW FGDUE U s U i

Question No.1: The subset of set B = {a, e,i,0,u} is:
_‘L&{’G{ ¥B={a,e,i,o,u} L» 1 A JIyv
(a) {6, g, u} (b) {Ca da 6}
() {e, 1, u} (d) {0, p,q}
Question No.2: The improper subset of {a, b} is:
e Cf( g:a?,’)ﬁ; k{a,b} :2/ le
(@){} (b) {a}
(c) {b} (d) {a, b}
Question No.3: The number v/19 is:
—e V1950 3 A Jis
(a) Rational Number Ey Jbt (b) Irrational Number Ey” JLL/
(c) Integer Ey; 5 (d) Whole Number Ey” J/(
Question No.4: Square of 29 is:
< O K29 4 A Ui
(a) 58 (b) 87



Question No.5: Solve 1/0. 0049

V0.0040 g/ 5 A Jir

(a) 7 (b) 0.7
() 0.07 (d) 0.007
Question No.6: solve V125
V125 g S SF 6 A iy
(a) 2 (b)3
(c)4 (d)5
Question No.7: The largest digit in the octal number system is:
e ke B L8 U T A i
(a) 1 (b)3
(c)5 (d)7
Question No.8: Solve (11001), — (111),
(11001), — (111), ./ 8 # Ji»
(a) (10000), (b) (10010),,
(c) (10110), (d) (11110),
Question No.9: Ali has Rs 26,224. He wants to convert these in Saudi Riyals.How much Saudi Riyals will he receive ?(1 Saudi Riyal =Rs
44)

S DS L U s o9 & mime il S U Ut Jis $o S o 00262280V £ F 19 A Uiy
(&244=U}

(a) 566 566 (b) 596 596
(c) 646 (d) 736
Question No.10: Qamer borrowed Rs 50,000 at the rate of 2% per year. After a peiord it is convert ed into Rs 60,000.For how much

period he borrowd this amount?

L Leid (i -G 600000t a2 b PF e USRS 500004 F 210 4 Ui

U
(a) 5 Years 5 J- (b) 10 Years 10 Ju-
(c) 15 Years 15 Juw (d) 20 Years 20 Ju-
Question No.11: A man bought a cow for RS 75 000 and sold it for Rs 100 000. His profit percentage will be:
K BT K S s 2100000 =Ll $47 28 § & 2,75000 L $oT 1 111 4 Ui
(a) 23.3% (b) 33.3% (c) 43.3% (d) 53.3%
Question No.12: Umair’s annual income is Rs 600,000 and the rebate in tax is Rs 400,000. His income tax at the rate of 5% is:
e F AUl p 52,400,000 57 Ao 2600000047 <0k § = 12 £ Jir
(a) Rs 10,000 1 0,0004;_31 (b) Rs 20,000 20,0004;)/
(c) Rs 30,000 30,000L-s. (d) Rs 50,000 50,000L-s
Question No.13: The degree of polynomi;l 203 2 2+ 3zt P 2+ 62 yis: ’
- 20 K2m3y2z+3w4y2z2—|—6wy3//§(213/di/
(a) 2 (b) 4
(c)6 (d)8
Question No.14: 6y* x 2% =

6yt x 22 = 14 & Jir

(a) 129/ (b) 1294
(c) 12¢° (d) 12¢8
Question No.15: The solution of the equation 3z + 2y = T is:
-~ Ja K32 + 2y = T lsls !15/ J!r’
(a) (0,1 (b) (1,1



Question No.16:

z+y=4
z—y=20

The solution of simultaneous linear equations given above is:

(a) (1, 1)
(c) (2, 1)
Question No.17:

(a) 2(x — 2y — 32)
(c) 2(z + 2y + 32)

Question No.18:

(a) 1.0025
(c) 10.025

Question No.19:

(@)0
(c)4

Question No.20:

(a) t=rk
(c)tk=r

Question No.21:

(a) Tx-4y=475
(c) 5x+7y=4T5

Question No.22:

() (7+2)(y— 1)
(€ (7—2)(y—1)
Question No.23:

Factorization of 2x 4 4y — 6zis:

(1.05) =

If z — = = 2, then value of 22 + -1 will be:

(b) 1.1025
(d)11.025

-d/ncagd/wz—ké;"ﬁx— L—9

By eliminating y from ty = 1 and ky = r, we get:
_‘at’nJJbLL/ﬁV:{ycuﬁky:r/)lty: 1:

The equation for the statement "The price of 5 balls and 7 bats is 475" is:

(b) k=rt
(d) tkr=1

-‘adf:.d/2zc+4y—62

z+y=4
x—y:O.

(1.05)% = :

—\

Z

16/J!r

e F K Udsls s A G .,géfd) £

:17/1}‘_)!/

18/Jlr

119 & Ui

20 & Jir

e bl d L o na15 e Ukt sl 5o 21 A Uiy

Factorizationof 7y — yz — 7 + zis:

(r 4 3t)° =

(@) 73 + 9rt(r + 3t) + 2783
(c) r? +t% + 3rt(3r + t)

Question No.24:

(a) (2u — 3v)(2u + 3v)
(c) (3u — 2v)(3u + 2v)

Question No.25:

4u? — 9? =

(b) 5x-Ty=475
(d) 7x-5y=475

(b) (7 +2)(y + 1)
(d)(7T—2)(y+1)

(b) 73 + &3 + 3rt(r + t)
(d) 73 — 9¢3 + 9rt(r + 3¢)

(b) (2u — 3v)(2u — 3v)
(d) (3u — 2v)(3u — 2v)

In the given parallelogram ,the value of angle "x" is:

- S d///wll ol Ju Qe $o15 C;d; :

C

_‘Ldf:‘J7y—yz—7—|—z

(r+3t)° =

4u? — 9 =

(d) 260

22 A& v

23/:2 J!r

04 # Uiy

25 & Jis



Question No.26:

(@) Z1 and £6

(c) Z1 and Z3

Question No.27:

(a) 97 cm?

(c) 247 cm3

Question No.28:

(a) 4mm
(c) 20mm

Question No.29:

(a) 6 m?2

(c) 24 m?

Question No.30:

(@)0

Question No.31:

In the given figure, the pair of corresponding angles is:

— U5 6 Ugal 0 S ‘ﬁ éfd; 226/7‘; Jis

/6. /1 (b) Z1 and /2

/311 /1

The radius of cone is 3 cm and the height is 5 cm. Its volume will be:

_gnf%(u"6L(/5L5/CJ:A!_‘L(3JUJKL)}.{! :27/:‘;J|y’

2.0 /1

(d) ZLland £7 LT/1

o< 55 Al (b) 157 cm3 15w 3 A
24T A 62.’ _j( (d) 457 cm? A5T A ‘5"/ u"(

The radius of a sphere is 5m. Its surface area will be:

£w 360 S U ce K56 L 28 A Ui
(b) 16mm”
(d) 100zm>

Ifa = 6m, b = 8m, c = 10m are the sides of a triangle then according to Hero's formula Area of a triangle will be:

-gn,}'/ Kl &flk/c’iﬂ//ﬁ:/j?u;f@ﬂfﬁﬂéw c = 10m«b = 8mea = 6m/'4! :29/}J1f

6 4 Cr (b) 12 m? 12 %8,
24 2 8y () 576 m? 576 < &

The value of the trignometric ratio sec 45° is:
< Iz Jsec 45 =’ &Q:‘d !30/} Ji/
(b) 2 (c) V2 (d) =5
The mean of the data 10, 6, 12, 15, 7is:
—e L4110, 6, 12, 15, 7ol 31 & Jirr

(b) 10
(d) 50
The median of the data 51,48,54,57,60 is:
e s K60 <57 <54 48 51515 32 4 Jir
b) 51
d) 57






SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
SCIENCE PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil : District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : Ol gwogee W S Wb

1. Use separate answer sheet for writing answers and give your personal information on it as well.

-udd I:Jl.og.lSLo U0 LJI.! c_u| us.g_g_)._g__9| éuu|_)3| UJ)S Jlasd.w| s u\._g_ls uq|_9.?dy O.L?._I_JL CL] écj_.eﬁ.l CJL;|9._> A

2. Read carefully and attempt all questions.

- 28 J> OVl plad jgl paosy aw joe T

3. A question can consist of one or more parts.

= WBaw gy Jeliioyy yguo> 000 ) aw Syl b Syl Jlgaw Syl P

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

et ot el S Lol S iy x2S+ )3 Lol 18 (iliigy vl /IS ) S gS) wls £

| Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes |

Question No: 1
1 / le
a ) Define cell division.(2 Marks)
NSRS AC
b ) Differentiate between parent cell and daughter cell. (2 Marks)
Qg e O Ut L iz

c ) Label the numbered parts of the cell given in the diagram. (6 Marks)

(6)_uftﬁdfg4uﬁLu/£JiZL“,u:ﬂ; (c

Question No: 2

Z/le



a ) What are air pollutants? (2 Marks)
(2l e KT éw (a
b ) Write down four ways to reduce air pollution. (4 Marks)

W B p iy L8 St (s

¢ ) Write down two effects on the human organ system of each of the following gases. (4 Marks)
1. Sulphur dioxide
2. Oxides of nitrogen

(4)-ufﬂo!/:'l 2933 4 (b"/ JiT &Ul L u;f.:’//J“;' L (€
BT G5 1
JIRIT L SaAL 2
Question No: 3

3/:‘;‘,)1)/

a ) Define acid. (2 Marks)
ORI NSYEC

b ) Write down the natural sources of the following acids.(4 Marks)
1. Maleic acid 2. Tartaric acid 3. Formic acid 4. Lactic acid

- 85 35 £ G 2 Sies B
el B Ak 63 hy S 2 ey

¢ ) Write down four properties of acids. (4 Marks)

(4)-(}‘.”{:«.[:”“7 Y u(/’,t;jl (c

Question No: 4
4/:} Jir

a ) Define lens. (2 Marks)
QS EA
b ) Write two differences between short sightedness and long sightedness. (4 Marks)

@W-g S e 5 s SGF i F o f B

¢ ) Draw any three ray diagrams where the image would be formed by a convex lens for different distances of the object from the
lens. (6 Marks)

(6)-ﬁ4éﬁﬁbic;c)g()‘u%J,,‘f"‘;(’/’iifazufd&[d/éiLD&L}%‘JQ’/(C

Question No: 5
54 i
a ) What is meant by space exploration? (2 Marks)
()¢ < ly L«(c Cjz’; &U} (a
b ) Write down any four benefits of exploring space. (4 Marks)
(4)4{/4/’ £19 e J/L Q“E; JUé (b

¢ ) Write down two benefits of space exploration in the field of health and medicine. (4 Marks)

@ 055 £ b p £ i w5 (€



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
SCIENCE PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 i Y

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
e WO e TG L S Bois 28 L e JEW Z
Example: Covid-19 is caused by:
fe o d/19—3’;/:df’f
a) bacteria E/:’:!; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

AL v o L s e B0 GG U g U el

Question No.1: How many parts of human brain are there?

Sl 2 L oAU A Uiy
(a)2 Iy (b)3 04 ()4 o ()5 &L
Question No.2: Which of the following parts of the nervous system detect stimuli?

?%V/J/IQK/WVUIKK/J)) 2 A i
(a) Effectors ]}@.y (b) Receptors ]ﬁ/.u

(c) Inter neuron L‘J’Uf /”-'l (d) Motor neuron uu,j /”,‘

Question No.3: Which part of the brain is used to solve a mathematical question?
?‘gt‘ndlﬁ’t“&LL/JF/JWLU‘}Q//?VU/K@; :3/Jlr

(a) Cerebellum (Ldﬁ (b) Cerebrum f/'“ﬁ

V
(c) Pons 7y (d) Medulla oblongata LJ;,(J}TU,/‘&,




Question No.4: Identify the non-inherited character.
_q/ulgg S ews? Qow & 4 A Uiy
(a) eyes color J/ Ju,jf (b) height /5

(c) walking (b (d) earlobes o Ju{
Question No.5: Meosis takes place in formation of which type of cells?

S Qo e b S U = 0 U7 8 5 A Ui
(a) Eyes cells Sy u,jf (b) Skin cells e b
(c) Hair cells = AL (d) Sperm cells ):.’ 4

Question No.6: Which of the following environmental issue is resolved by using microorganisms?
e bl U e JW1 & Usitile & 008 2 QUL o = Ut U5 osa 6 4 Uiy
_ y
(a) Global warming u.'&/’} J’K (b) Deforestation ﬁj’fgb»,%

(c) Pollution &,JT (d) Extinction S

Question No.7: At which of the following stages of cell-cycle, DNA replication occurs?
?‘génﬁﬁ'%ufuwdjuﬁ&/g/ifvdf 7 A Uiy

(a) Prophase ﬁ’,4 (b) Telophase /;’ ,&‘b (c) Interphase ﬁ/’q (d) Anaphase /';’ l'(.’

Question No.8: Where the genes are located ?

cur Qb dL U2 8 4 Jir

(a) Cytoplasm r)%}«’p (b) Ribosomes f,/,ﬂj (c) Chromosomes f,«,»,/ (d) Centriole JZK
Question No.9: Which one of the following diseases is spreading due to the ozone depletion?
?ﬁ;&/ﬁcg)d/d/qumd/@u’u[;uﬁdﬁ,?//cf 29/7‘;Jlr‘
(a) Skin Cancer /:’/K),Lp (b) Tuberculosis L}) _“;: (c) Typhoid /?i{?/e’ (d) Cholera 2
Question No.10: Which of the following is the way to reduce air pollution?
e Lo PSS = s pisr 110 A Ui
(a) Using public transport L‘/JW; K&/}{;Ub _ﬂ@:’ (b) Using personal cars U/JW’/{(}B
(c) Burning of fosil fuel (I /J,ﬁ J",’ (d) Using less electricity t/d(‘;&ﬂ [{g
Question No.11: Which of the following gases is a greenhouse gas?
oo A Uiy S A o e s i 11 A Dy
(a) H,S HGL o (b) CO, 20T 315 ik
(© 0, =T (d) SO, LT (s
Question No.12: Select the possible way to reduce air pollution.

Gk P RS SE ST 2 A i

(a) Landfill (L /)}A/Lwﬂ/ (b) Volcanic eruption Lfé?f Kuw JJT
(c) Incineration [;,;/m(i//j}g (d) Reforestation 14 Kalﬁ’
Question No.13: Which of the following is a characteristic of chemical reaction?

feees® (S QLG 0 e S i 113 A i

(a) No new materials are formed s o u:?/ e
(b) Mass changes into energy = dyz J:,Uf u.f dlﬂ; JU
(c) Some amount of light is emitted < dyz G (3’;/ U: Ja2 f:

(d) New materials are formed oy “& &



Question No.14 : Identify an endothermic chemical reaction from the following.

S e S PG L F e e S S5 14 A Ui

(a) Burning of fuel ua KJ,;’ (b) Decomposition of CaC03 ﬁ/,:rdj JCaCOf;
(c) Ignition of gunpowder L 350 ‘J‘/ (d) Use of fireworks JW! Kl JJT
Question No.15: Which type of chemical reaction is shown by the following equation?

CaCO3 — CaO + COq,

?44,(3//5&/26’0/Jﬁ&&{@b&fd} :IS/JI}‘
C&COg%C&O + CO,

(a) Addition ﬁ 4 (b) Decomposition ﬁ/;f/ 53]
(c) Neutralization ﬁ/’m}’z«: (d) Exothermic s.«(/?}/gl

Question No.16: Which of the following acids is used in making detergents?
e bl L Jed U b T o 116 A v
(a) H, SO, Sl S (b) CH; COOH Ll Lo
(c) HNO; S i (d) HCI A _,C}Kuijl[
Question No.17: Which of the following substances is used to decrease the acidity in the soil?
?+&ww;£‘¢/{/(%';;)&gu SEE ol ety 174 Jir
(a) Ammonium nitrate q/"/t (.’:,/1 (b) Magnesium chloride /’g,}}g :'...“
(c) Calcium hydroxide /)ym}//?l[ (ﬁ.; (d) Potassium chloride j&fu,g j Ly
Question No.18: When propellant fluid of aerosol vaporizes. What is its effect on product liquid?
?‘g s I .L.’!//.,. f:g}g &1/5’;/,: KUl ;‘L AUVt 4 P &LE;’;/? ng:/“! - :18/:‘; J!r‘
(a) Pressure increases < L“[? o ﬂ/“ (b) Pressure decreases < t’[? v {ﬂ/“
(c) Pressure remains same < Gy (S ﬂ/“ (d) Pressure becomes half < L“(? »J meﬁ./“
Question No.19: Aerosols are a mixture of:

[ Z—%/,‘[K/;Z O dragl 119 £ Jiv
(a) solid or gas in liquid uﬁ él, ¢ szt u’,;’ (b) solid or liquid in gas Lf: Jf‘éh L uw),f’
(c) liquid or solid in liquid e é(, «J}Z‘ [ é(, (d) liquid or solid in solid o J};; ‘J,Z’ L él.

Question No.20: Which one of the following is a physical quantity?

?‘L/u?/ Jé/ ¢ Q)/L e J:} ok 20 / Jir‘
(a) Stress s (b) Intelligence _o.;[[)' (c) Length éu (d) Emotions &LM
Question No.21: A science teacher wants to measure a very small amount of liquid in the laboratory. Which instrument he should use?

o b/ et JTUS L Lude i el il S FPe SO I8 8P en S A S 21 A i
(a) Beaker /? (b) Flask 1

(c) Pipette Lok (d) Measuring cylinder /i:lz L? l{i.
Question No.22: What is the freezing point of water?

e LlZ) Jp}JK&g 22 A Uiy
(@)0°C 0°C (b)10°C 10°C (c)20°C 20°C (d)30°C 30°C
Question No.23 : When the bulb of thermometer touches any hot object, the mercury in the thermometer:
S R et G e g S A RE 2 03 AU

(a) expands o CL{ (b) boils % C.y (c) contracts ‘Lt’% (d) melts ‘L M



Question No.24 : Railway tracks have gaps between them to deal with expansion in which days?

Ce bbb U £ upradid £ &5« 51d Ut uds S 04 A Jis

(a) hot days VAo (b) cold days s U
(c) snowing day u',f U’j) PP d/L =y (d) rainy days uf.' u;’) I JJL
Question No.25: Which of the following lenses is used for correcting the hyperopia?

et YU L L8 e Sl Ay A o e U5 20w 25 4 i
(a) Convex lens /-“J ‘ffy’/ (b) Concave lens ﬁ.J ;:O/
(c) Contact lens ﬁj '_J;,gi[ (d) Convexo concave lens /J,:(j/,{jj/

Question No.26: Identify the defect of human eye with the help of given diagram.
-U:/U% Juﬂ’v LdeUi & d/rl/’/gb”éfd) 26 & Ui
(a) Short-sightedness d/J %/“ /R“'”a

(b) Color blindness ‘_f.f'j;fu, ){

\ | Image
(c) Long-sightedness d /J e /}.7-‘*
(d) Retina defectiveness u’wa/ i
Question No.27: Which type of lens is used in magnifying glass?

?‘atndv*!ﬂ(ﬁ‘fufu’%u@lsj? :27/J|/
(a) Convex lens ﬁj ‘f.'i// (b) Plano convex lens ﬁj U/"://f:&
(c) Concave lens /-“J ,:6/ (d) Plano concave lens ﬁ){é/r:&

Question No.28: Identify the following diagram.

S e e F 6 2 28 A Jir

(a) Thermal power station u:“';//;l, J/’

5 b N -
(b) Wind power station u".’f/ ol %o .| 1
s b *
(c) Solar power station g sl Ay
s b *
(d) Hydro power station g~ sl 9y
Question No.29: Identify input device from the following.
Sese Sy ' 29 4
- ML’JJJ’XJQ:U‘LJ:/“)W S 129ﬁ’/dl/
=h
(a) (b) (c) =
e
Question No.30: Tiny electronic circiuts used in electronic devices are known as:
3 b * . - y,
g &S A e L o Je1 Uk B 6D 30 A iy
Fhe
(a) integrated circuit b J/ j& ol (b) series circuit b J/ Ve
(c) parallel circuit 5 J/ d)];* (d) alternating circuit 5 J/ b@ﬁf
Question No.31: For performing experiments in space, large spacecraft are used. These are called:

?ujiguﬁ{! e os S U sl S Y- 31 4 Ul
(a) Spacecrafts uf:’|/’/u:,§/ (b) Space shuttles )}’;&Up
(c) Space stations //:'b/ 61}9 (d) Space machines /'..}‘ &UV



Question No.32: What is the name of the instrument shown in the following figure?

*‘%g(LgLTZLlA/)uﬁ/“rﬁd;;/,w :32/:)J|r‘

(a) Refracting telescope - e ‘}f 3,
(b) Spectroscope ,, e ,f:
(c) Reflecting telescope b“, - B,
(¢) Microscope N




SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
SOCIAL STUDIES PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
_Q’/Jpaﬂi/(um u‘.‘f’zc;u;_'
2. A question can consist of one or more parts.
_‘Lcﬁﬂ(}:jﬂ{:u%?u}k)afug&ugg)l)’.g_f

3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.

e U b JJWZJ"?J:_Q/JW 00 & /o8 d6dize ML L iz _r

I Total Marks: 52 I Part-B (Open Ended Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1

1/:‘; Jlr
a ) What is called a natural disaster? (Marks 02)
02 ) S bl | L =37 3,45 (@
b ) What is called a region? (Marks 03)
03 el L b

c ) Describe the characteristics of tundra region. (Marks 05)

05 )iy ) e whor® § 8 L1 (C

Question No: 2
2 / Jiy
a ) Discuss Pak-China relations. (Marks 05)
05 ) (g S ehy =B f u@ (a
b ) Describe the economic characteristics of Central Asian countries. (Marks 05)

(OS/)Q/UQ:«Q&W (j“:bv‘ JJV ij@.’bf’} (b

Question No: 3
3 / J!r
a ) Describe the features of rivers: (Marks 05)
05 )iy Y wlor? § Uil (@

b ) Describe the types of glaciers. (Marks 05)

(05 i) oy A3 § 55 (b



Question No: 4
4;} J!y
a ) What was Dyarchy.( 2 Marks)
(/7';2 ) .l{("lb L}f 5 (a

b ) Desribe the importance of Rashmi Romal Movement:( 8 Marks)

8 e et § s 70 L7 (B

Question No: 5
5/:} Jlr
a ) What recommendations did Lord Macaulay presented in Educational Theory 1835? (Marks 05)
(05 ) ot el V1835, gf” il

b ) What ages were determined for boys and girls marriage during British rule?( 5 Marks)

(05/):q/uy.u:a&’ég?u‘“’//b‘y‘f({/&fﬂﬁ;Ld;tﬁuﬁuﬁ/};zﬁ (b



SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
SOCIAL STUDIES PART - A (Objective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i W

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

e WO e TG L S Bois 28 L e JEW Z

Example : Which country is located in the north of Pakistan?

S Sl b 2 JE Z ] s U

a) India e b) Afghanistan u[;)[,;l
(©) China u;‘ﬁ diran (ol /f

4) Use black/blue ink for writing. Use of lead pencil is not allowed.

_‘Ldja]lgl JJWI&&&C_Q/JWI Kéwu&/dgéié_ﬁ

5) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L slzml e Ut dir & A 2

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

e ALK sot Lo e 80 FGDUF s U1 el

Question No.1: Strip graph shows:
e bS8 S A e
(a) quantity or producation N9l ag L Jl e (b) quantity thickness éﬁ’y d//u};‘/
(c) average quantity /Ju}.‘f Lol (d) population ,J/U’,LT
Question No.2: Data is shown in shading method by:
:‘gt“tggufmruﬁ%.zgkéb@? :Z/Jl/
(a) Dots = Ll (b) Colors o u’fj

(c) Graphs o J‘/ (d) Scales o ’_;k::




Question No.3:

(a) delta

(c) natural leavees

Question No.4:

(a) pot holes

(c) delta

Question No.5:

(a) Air
(c) Deposition

Question No.6:

The fall of river after its division into branches/parts is called:
:‘at‘ﬂv‘(t/’/u:/ﬂ/nﬂ.j utu,%fggn 3 2 iy

o) 4 (b) flood plain JIar d//Cf”

$

> ‘3//5 (d) v-shaped valley S 4 v
A Very narrow V shaped valley is called:
:uj:é[d)!)_ﬁ%l/\/ :4/1}J|/
f & (b) gorge 6

Ly (d) drumlins / r/j

Sea caves are formed due to:

[

$

Zuj'&}:u:/li Sons IS/J'/

P N (b) Sea waves éuf/:) dlﬁ‘w
o u..") ,-{7 (d) Rivers o u;g/)

Different types of features on our planet are, because:

e L Josw £ 7 L ot G 6 A Uiy

a) its level is not the same 4 s é/ d? b) a lot of water exist here s ry j

(a) ‘aufu'vugl l (b) ‘LoJE//i,WJ&L:UQ{,
. Vi . .

(c) forests exist here e cAJé> UL?{, (d) mountains exist here Wi j% u[,‘,;

Question No.7:

(a) two parts
(c) four parts

Question No.8:

(a) Marconi
(c) Galileo

Question No.9:

(a) Indian Ocean
(c) Pacific Ocean

Question No.10:

(a) Ocean
(c) Mountain

Question No.11:

(a) temperature

(c) stomach

Question No.12:

(a) industrial revolution

Configuration of Ocean floor has been classified into:
= C‘fd/d/v >0 Sk §J) $A 7 A iy
U 5 (b) three parts s
S (@ five parts St

"Theory Of Gravitation" was presented by:

S A YoV

SR (b) Edison LAl
o ,:yg (d) Newton o u}:}s

The largest Ocean on the surface of Earth is :
e Alie o g0 9 A Uiy
""‘f (b) Atlantic Ocean u’il}ﬂﬁ
S £ (d) Antarctic Ocean g3z jf

The reason for the separation of one continent from another is:

:ﬁ;g;uré.m,«gg;(ﬁjl/,g/uﬁrﬁjuv{l:lo/dlr
ﬁ (b) Glacier i:g

jL.‘/. (d) River E’./’

3

The polluted water spreads diseases due to:
t 3F Ul = QL ondT 211 4 Ui
St (b) cough are
S - (L

The rapid increase in desertification is because of:
. - z . .
b S e 7 - Jf L JM;‘ 112 & Ui
I G’/ (b) economics revolution I d’w’:'

(c) educational revolution I ”‘“‘ (d) social revolution I J,V



Question No.13: Lake Atta Abad came into being in Gilgit becasue of:

:‘g,?}d/d‘_fuﬁ)}?}ﬁ)ﬁwu:ﬂ:13/7‘;J|/
(a) Rain u’/L (b) Landsliding [,J// u;f/'
(c) Earth Quakes L)/ (d) Flood VU,:

Question No.14: The list that consists of effects of air pollution is:

MOy J”&”/?u/“; Z f;ﬁ dw 114 A Uiy

(a) contaminated water, Y - (b) temperature rise, respiratory J)V « 3ol uﬁ =7 >0
gastrointestinal diseases U.L/K’ J(-M ‘ d.t. 0391 diseases Ul d/
(c) cancer,bird deaths oo 84 JU’/‘:/.: ‘/':,f (d) hot air,lack of food Jd/.ﬂ/i: | 3¢ r/f
Question No.15: The disease spread by water pollution is:
o S 2 o G Sy 15 A Ui
(a) asthma ) (b) deafness CL e
(c) fever I (d) hepatitis U4
Question No.16: The main cause of the Greenhouse effect is:
e 218k o S ety 16 £ Uiy
(a) air pollution L;/J}JT éu} (b) water pollution dﬁujT dT
(c) soil pollution é)f JO}’" (d) noise pollution gfujT J/f’
Question No.17: Which pollution affects mental capacity of a person?
te 150 S matle (575 S o ST 5 0 17 A Ui
(a) Air Pollution J,,J 7 éw (b) Water Pollution J;;J T4aT7
(c) Soil Pollution L«C JT J s (d) Noise Pollution f;) 7 d/ ¥
Question No.18: The important product of Monsoon region is:
:‘L/bl,g:(c'l J,L}&yu/ :IS/J!}"
(a) sugarcane g (b) rice J)lg
(c) cotton u’l.{'/ (d) wheat r)-f
Question No.19: The economic activity of the Monsoon region is:
e §S o S 84wy 119 4 Uis
(a) rice cultivation ._u';«{d/d,[g (b) cotton cultivation g}(d/u’y/
(c) sugar cane cultivation G}KU(Z (d) corn cultivation _",;‘KJ(S/(
Question No.20: Social reforms of the British Government gave special benefit to:
iyt 0 k6 u‘”ﬁ} o ol [}/“ be U2 272 u(u;'/“/{(i :20/ Jis
(a) children /u,f (b) women }(u;Jf
(c) slaves /U}/‘U& (d) prisoners :(u,f,g:"
Question No.21: The purpose of the Lord Macaulay's education policy was:

s Kudjgdf.wJL@LU 21 2 iy
(a) elimination of caste el s (b) ending unemployment 26 Kd/{j,/ o

(c) determining resources for the Uf} Kd'ﬂ' i L b als JL? i L il )(u}f}]

(d) preparing the people for the job

common goods l?/ L’/



Question No.22: "I am very happy that my mother of knowledge has now become a college'. These words about Sindh Madrasa-ul-
Islam Karachi were spoken by:

Ly e LGS P s i 8 e T K il g S e $F e A0 A

(a) Sir syed Ahmad Khan Uk e oy Sti)r)]r?ausid-e-Azam Muhammad Ali S &P dﬁ Y fﬁjl,ﬂ?
(c) Dr. Allama Muhammad Igbal P C))L}'; & ol /”/L’,’ (d) Maulana Muhammad Ali Johar PRy J’ Z LYy
Question No.23: Sir Sayed Ahmad Khan's Book Khutbat-e-Ahmadia was the reaction of:
G S -4 =B H,D/Juu Bl s 23 A Iy
(a) The life of Muhammad £ {"éﬁ}‘j ST $»"  (b)Thelife of Prophet & K"&J&f@,/“ 7 | 5"
(c) The life of Rasool £ K"ﬁ‘}idf'/ T 5y $s" (d) The life of Nabi £ ("ﬁﬁ‘y (j STy $"
Question No.24 : In history, an ideal period of Hindu-Muslim unity was :
thss9 A 1 fl/ IR é/lﬁ‘ 224/1} J'/
(a) Swadeshi movement I s &)y ng“ (b) Khilafat movement I L oI ng"
(c) Civil Disobedient Movement I s ol rﬁ vgf“ (d) Silk Handkerchief Movement I s JL,/ ﬁ/ Vg}
Question No.25: The attitude of Hindus towards Muslims, during the Congressional Ministriesin 1937-39 was:
5 s A & UIM K Utsin s £ Ui 5 F8 §1937-39 25 4 Ui
(a) to solve communal problems Jp KJ/L/ ) 3/ ﬁi:ﬁ;gmmate the identity of ~6 g‘f}y" L u}’L‘L/
(c) the solution to constitutional o (d) struggle for India's ,,i L dJUT JUD’M
reform J? JOIAIEY uﬁ ! independence
A2 ke
Question No.26: The basic reason for the success of the Muslim League in the 1945-46 elections was the demand of:
& oS S Qerd & FEIL 1945-46 26 £ Jir
(a) constitutional reforms Jw/ K oo b Lo 0{7 (b) a separate homeland ,JU:/‘ Kj, _jl
(c) Hindu-Muslim unity b Ky rj/ Iy (d) national government b K;‘/}G d}
Question No.27: Quit India movement in subcontinent was failed due to:

by "Kl: ng“ 0 38 Jskn o 27 :27/1‘; Jir‘
(a) disobedience of law by Hindus o z_/u’é ujg’ Ju,',’M (b) strategy taken by the Muslims o J’f J JU”W
(c) timely action taken by the British u”:’)/. L C/’G (.5/./(' o 53 J&u U(U}”[/

(d) intervention of the Sikhs

Government = ﬂ/‘;'
Question No.28: Quaid-e-Azam became a member of the Muslim League in:
:4@6&.@(‘”%’%@ 28 & Uiy

(a) 1913 J41913 (b) 1916 J~1916
(c) 1919 J41919 (d) 1906 J~1906
Question No.29: Political solution of the sub-continent in 1930 was presented by the:

U930 F SLK A7 029 A Uiy
(a) Quaid-e-Azam P r;ﬂ AW (b) Liagat Ali Khan Uk ‘}‘ ;{3.[.,1
(c) Allama Igbal P JG; ol (d) Maulvi Fazal-ul- Haq P Cf’ J‘) S
Question No.30: The role of minorities in favor of the establishment of Pakistan was positive due to:

(S o § Lmed n Eurfi ot G L o] o6 30 4 s
(a) Muslim League promised to give K%; & vm P b;é fl/ (b) promised to protect the rights of KL‘V? L J;y L U;’é”

a separate region minorities
& LY 3 DA

Muslim L inst th % . 0y
I(_Ti)ndaz Im League was against the f/ e I UIs A7 ,_,6 (L/ (d) love of minorities for Muslims M e uju/‘ {u;}’l



Question No.31: Under Government of India Act 1919, the Central Legislative Assembly had a number of nominated members:

(& St o £ w6 UE 6 e $1919 0t e 06 31 4 Ui
(a) 45 J.‘:' c;: (b) 35 u/f:f«
(c) 30 u:“ (d) 27 u‘{t‘»
Question No.32: The old name of Igbal Park was:

3 by beiﬁ JU1 L 132 A Uiy

(a) Quaid-e-Azam Park VC.L. /";/g' (b) Muslim Park Jg (L/
(c) Minto Park __,C& Fe (d) Jinnah Park VC.L. L



TEACHING OF QURAN MAJEED PART - B (Subjective Type)

School :
Tehsil :

SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks]

District:

Student Name:

Roll Number:

Section:

Date:

General Instructions for students:

1.Use separate answer sheet for writing answers and give your personal information on it as well-

el e e S &t g S e Ki6dz = it L iz

2. Read carefully and attempt all questions

S i U gy = iF

3. A question can consist of one or more parts

-‘atﬁn‘fﬁ/(:u#’ug)au‘fﬁgu@dwu‘@

4. Use black/blue ink for writing answers. Use of lead pencil is not allowed.

e e (U £ S S e E gL £ 2

Total Marks: 35

I Part-B (Constructed Response Questions) I

Total Time: 1 Hour 45 Minutes |
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
TEACHING OF QURAN MAJEED PART - A (Objective Type)

[Part A:15 Marks Part B: 35 Marks Total: 50 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : e iy o7 i Y

1) Use mask & keep at least 3 ft. distance from each other.

_ui"/J,JJGKd3K/Jl (wa/,uﬂJL-!

2) Read carefully and attempt all questions.

-Q/Jamr(l}m u’.‘.‘”f::_/);-f’

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

<c‘,gqu/)ufd@fd:éfwuf@u’b/??lﬁgédir(}l’s’“'ﬂl/?/ﬂj‘

cop Pt & s, o Je

Example: How many Salah are obligatory for Muslims in a day?

Four A.f (b) Three uf' (2)
Six %7 (d) Five é& 0)

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L lizne Lty S

I Total Marks:15 I Part-A (Multiple Choice Questions) I Total Time: 30 minutes I

Instructions: Twenty-five (15) Multiple Choice Questions (MCQs) are given in this part. Each question carries one mark.
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SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
URDU PART -B (Subjective Type)

[Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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SCHOOL BASED ASSESSMENT 2023

URDU PART - A (Objective Type)

[ Part A: 48 Marks Part B: 52 Marks Total: 100 Marks]

MODEL PAPER
GRADE 8

School :

Tehsil : District:
Student Name: Section:
Roll Number: Date:
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